
SPARE PARTS LIST for Magbroach MLP148  magnetic hole cutting machine

For more information call +44 1246 224669 or email: info@magbroachuk.com

Parts list Parts list

BEVEL GEAR 16t  / 29A DRIVE SHAFT

28

34 RATCHET HANDLE

31

MAINS CABLE 35

22 M16 DOME GLAND

GUARD &  FIXING SCREWS36

35

22

36

26 BOTTOM COVER PLATEBLOCK FIXING BOLTS M6 x12 (4)

M4 RAIL FIXING BOLT 

RAILS (2)

12

16

21

3

5
1

8
9

26

24/25

4

6

7

14

2

17
13

15

10

11

33
30 29/29A

30

32

34

27

18

21

2019

no Parts list
1 MAGNET BASE

2 MOTOR MOUNT BLOCK

3

4 PINION DRIVE

5

6 M5 RAIL ADJUSTMENT SCREW AND 
LOCKNUT

7

8 ARBOR COMPLETE WITH LOCKING 
SCREWS AND SPRING

9 ARBOR SUPPORT BRACKET & BEARING

10 SLIDE AND RACK

11 GEARBOX COMPLETE

no

12 BEARING REMOVAL SCREWS

13 GEARBOX CONNECTING PLATE

14 FUSE HOLDER

15 HANDLE BRACKET

16 HANDLE COMPLETE WITH FIXING BOLT

17 MOTOR UNIT COMPLETE

18 MOTOR NO VOLT SWITCH

19 SWITCH PLATE BOLTS

20 MAGNET/POWER SWITCH

21 SWITCH PLATE

no

24 RIGHT HAND COVER PLATE

25 LEFT HAND COVER PLATE

27 PCB BOARD

28

29

INTERNAL SPLINED SHAFT

30

SPRING/PLUNGER ASSEMBLY

31

BEARING x2

32

25MM CIRCLIP

33

SPIRAL BEVEL GEAR 24t

26 BOTTOM  COVER PLATE

34 RATCHET HANDLE

BLOCK FIXING BOLTS M6 x 12 (4)

M4 RAIL FIXING BOLT

RAILS (2)


